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Qup(X,)=achromatic receptor response
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Qup(X;)=achromatic receptor response
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-:lTUB-test chart hex3; Model of two normalized response funciiggs,) & Q

Achromatic receptor-response function
QgplX /a] for a=0,5 and b=1,0

with x; =log [L/L,] (L=test luminance)
L y=surround luminance

la]l= L _in[—L ___1-b
Qavlrfal= 155 N ]

function values forb=1 and anya>0 :
Qai[Xr/a - = oo x=logL, u=logL,,
Qai[Xr/a = 0] X, =log [L/L ]
Qailxr/a— + ] =X-u
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Achromatic receptor-response function
QgplX /a] for a=0,5 and b=1,0

with x; =log [L/L,] (L=test luminance)
L y=surround luminance

Qaplx/al= 2o In[——=Lcrr-1-b
function values forb=1 and anya>0 :
x=logL, u=logL,
X, =log [L/L ]
=xX-u
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Mathematical equations of hyperbel function$

See:Papula, L., (2003), Mathematische Formelsammlung, Vieweg

_sinh(x) _eX - e™X
tanh(x) coshk) eX+e X

sinh2(x) + cosk(x) = 1

hex30-6n, eeo30-6n

Mathematical equations of hyperbel function

See:Papula, L., (2003), Mathematische Formelsammlung, Vieweg

_sinh(x) — 10X
tanh(x)= coshk)  10%7a

sinh2(x)+cosk(x) = 1
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Qup(X,)=achromatic receptor response
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10% = In(10) x,' ld<,/\n(10):ex,
a=1,00, b=1,00 e=2,718282
a'=aln(10)=2,302
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Mathematical equations of hyperbel functio
See:Papula, L., (2003), Mathematische Formelsammlung, Vieweg
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Mathematical equations of hyperbel function$

See:Papula, L., (2003), Mathematische Formelsammlung, Vieweg

F(xl a)= u'(x/a)v(xfa) —u(x/av'(x/a) 2]

V2(x/a)

4 _ 1
a[eXareX1a]2 ~ a cosi(x/a)

hex31-4n, eeo31-4n

F(x/ay ]

Mathematical equations of hyperbel function$

See:Papula, L., (2003), Mathematische Formelsammlung, Vieweg

F'1p(X) =b u'(x) v(x) —u(x) v'(x)

V2(x)

, _ 4b
F'1p(X) " e X2

hex31-6n, eeo31-6n

Mathematical equations of hyperbel functions

See:Papula, L., (2003), Mathematische Formelsammlung, Vieweg

Fap(x/a) =b u'(x/a) v(x/a) —u(x/a) v'(x/a) 2]

V2(x/a)

—4b b
a[eXl@)+e~X/a]2  a cosk(x/a)

hex31-8n, eeo31-8n

Fap(x/a)=

aéﬁxr) and derivation
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